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<C3> RATIONAL EXPRESSIONS

Answers - Worksheet C
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_ 6Qx+1)=T(x+3) _ 5x—15
(x+3)(x-3)2x+1) (x+3)(x-3)2x+1)
5(x—3) 3 5

(+3)x-3)2x+1)  (x+3)2x+1)

O 2 _ (x+6)-2
x—6 (x+6)(x—06) (x—6)(x+06)
_ x+4
(- 6)(x+6)
p x4 1

(x—6)(x+06) 2
20x+4)=x"-36

X —2x-44=0
= Zi\/z+176 _ 2126\/5 — 1435

x+6 n X-p _
(x+3)(x+6) x+7

@+ D+ Ex-p)x+3)=0

X¥+@-px+7-3p=0

real, equal roots ... b* —4ac =0
(4-p)’—=47-3p)=0

p2 +4p—-12=0
p+to)p-2)=0

p=-6,2

_ Tx+2 _ 7
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i = 2x-N(x+4) _ 2x-7
3x(x+4) 3x
7 _ 2x-7
E 3x
2lx=2-x)2x-17)
¥ +5x+7=0
b* —4ac=25-28=-3
b* —4ac <0 .. no real roots
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(2x+3)(x+4)

2x+3 _ 1
2x+3)(x+4) x+4

fx) =

a f(5)=250-125-115-10=0

= (x —5) is a factor of f(x)

b 2%+ 5x+ 2
x=5)2x — 5 -23x — 10
27 — 1047
5x% —23x
5x% —25x
2x — 10
2x — 10

L) = (x = 5)(2x* + 5x +2)
=x-52x+ Hx+2)

. f)  _ (x=5Qx+D(x+2)

" 2x?—9x-5 2x+1)(x=5)
=x+2

1 3x 1

3x—1  Gx-1?  x(Gx-1)
_ x(Bx-1D-3x"-(3x-1)
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_ 1—4x
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1 4 1

2 P-u 2
=1
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a —

2 t—

SR
-2t t-2
LA B

(t-2) -2

4+t=1-2

£-3t—4=0

t+1D)(E-4)=0

t=-1,4

but if = 4, common difference = 0

sot=-1, firstterm = —5
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